NO.

BAL A
Jovk  (HEE H8.12 H10.1 H10.12  [HI2.1 H17.6
ThE AFAHY 1 | 1 1 1
YIHI5 3 4 4 8 6
HAI X 8 8 8 3 3
77 8 8 6 16
30
51"
A/ -
2 , [sP2) !
15‘;' oA/ F
B imyYIHo5
10 BLFAHY
57
ol v

HI01 HI012 HI2.1

AETOvbRERE
m BT FEem
A X FE il 6.49 97
501 7.15 93
D502 6.00 6.3
503 4.30 6.0
10.00 |
9.00 |
8.00 t )
7.00 k _
6.00 [ ¥ N
5.00
e B o
200 ‘% @R TTFEem
1.00
0.00 -
?
> 4
o
1
FResRTOvbRERER
fEm  |[tR7TFem
/X F 4.14 52
501 457 6.0
H5o02 448 3.1
5203 657 8.5
H A 291 2.7
HA2 3.99 4.2
5hY 246 2.6
O Em

BT Eem




E/XEFERTOVENERE

Fm [t Eem
/% 4.66 6.7
AFAH 8.47 100
AFAFH2 8.47 1438
AFAH3 7.10 10.9
Sohs, 481 44
16.00
1400
12.00 r/A
10.00 | y
8.00 ' @ ; .
6.00 ¢ bl i
400+ gé ;%
0.00 ¢ 1 1 1
/ ¥ ¥ %
* A A 1
. % % 5
1) D 2 P
fiti 1 2 3
Yo7 nukNERE
B T
HHSEY 751 8.3
E/F1 3.73 5.9
/%2 491 6.1
AFAHY 852 1.7
) 0.80 04
12.00 «
10.00 +
8.00 ¥
6.00 |
400}
2.00

0.00:-4

“
)
h
v

'O A Em

‘B AR FEom

(=EF I
(T

oy RERR
m_ |IBxf Emm|
X 751 8.3
AFAHY 4.15 85
H931 7.00 11.6
H552 3380 20
933 691 9.3
Y54 10.87 12.6
H455 10.32 21.0
DA ¥ 5.40 77
ﬁmi
2000 F
wmi
|
10.00 t
500 - |
0.00

R
B AR TR mm



[ERFRAOES, RERN, HEEEROIEL (BHaRAZREL O NO. 1

REIERETAR (TR TER) ER2 v s SERETAR (LT EE)
Dz ' L.

PR o

ER




[EREAROES, RERN, BEAROIET (SHaHRHEREL O NO. 2

BR5 R¥TOvHERRE (PA1TED

L3}

ERG6 RFTOy MARRE (FALT 7EE)

Em7 b/FEX2870y MEFRR PR 7EE)




[SREAKOEY, REKN, BEAROWL (SHERHERELT) NO. 3

AH)
e




1

(Bh: A ha)
T 8 9 10 11
G ly 2y 3y 4y
e N 3.9 42 4.4 7.2
M 3.1 3.9 5.6
2 WA = A AS A
(1) Ak i
4 3% o 8 9 10 11 17
Rt i 7 e AT ly |2y |3y |4y |10y
MOCEE (mm) 8 12 20| 34| 97
A F | e (mm) 80 |
B @ (em) 500 94| 138 | 188 | 649
ko 9k (em) 12 19 32 44 80
MG PE (mm) 7 10 15 28 67
v/ F | & (mm) 48
N, 7 B (em) 641 93| 139| 194 | 466
o 9K (em) 11 16 25 43 2
MG PE (mm) 13 16 20 24 49 |
PR S »ﬁ@i%ﬁ?(mm) 33
B em) | 160 208 | 252 | 264 | 383
B M(em) | 22| 19) 37| 56 108
K5 (cm) 173
GRS (mm) 15F 22 31 38 83 |
iy S ﬂfﬁ)iﬁﬁﬁi(mm) 67
B @ em) | 165 225| 295| 336 751
B gk (em) 21 75 43 38 | 121
FR ) (em) 210

DY RS .
(1) FAIDhR

7R HLASE 1 X

FTI
{RIEA LSS

LotThe r#“] 7y R
FF I X8 ' ik
3. 60ha
)2 -

t/*’? “ﬁ’/‘ 7

17

| R

= @// | T

[




